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The process of removing ceresine
from silk is called

(1) Deguming
(2) Wetting
(3) Scouring
(4) Fulling

The chemical which converts
polyester mixed fabric to 100%
polyester is

(1) 60% H,S0,
@) 70% H,S0,
(3) 80% H,SO,
(4) 90% H,SO,

Strain relief process in wool is
known as

(1) Decatising

(2) Milling

(8) Calendering

(4) Crabbing

Wool setting process is known as
(1) Milling

(2) Decatising

(3) Scouring

(4) Crabbing

Silk like finish is given to cotton
fabric by

(1) Friction calender

(2) Schreinering calender
(3) Felt calender

(4) Squeezing calender
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is derivative of triphenyl-
methane salt.

(1) Basic dye
(2) Azoic dye
(3) Sulphur dye
(4) Disperse dye

7. - In fabric, threaded linen
appearance and softness are
given by

1) Chasing calender
(2) Squeezing calender
(3) Friction calender
(4) None of the above

8. The objective of calendering is —

(1) Press down clothes and
reduce its thickness

(2) Increase the
fabric

@) To bring lustre in fabric

(@) All of the above

opagqueness of

9. Anti static finish is given on

fabric

) To prevent
static charge

(2) To increase
conduction power

3) Both (1) and (2)

(4) None of the above

10. By the use of - water
resistant finish can be created.
(1) metallic salts
(2) silicon emulsion
(3) wax emulsion
(4 Al of the above

generation of

surface
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Water resistant finish permits
(1) Air but resist water

(2) Water but resist air

(3) Both water and air

(4) All of the above

A special finish to remove
shrinkage of cotton cloth is

(1) Sanforizing
(2) Milling
(3) Calendering

(4) Damping

The process of  bringing
dimensional stability in synthetic
fabric is called

(1) Heat setting
(2) Sanforizing
(3) Parchmentisation
(4) None of the above

Finish which creates Organdy
effect on fabric :

(1) Parchementisation
(2) Carbonisation

(3) Sanforisation
(4) Mercerisation

. Polyvinyl acetate is used

(1) To bring stiffness in fabric
(2) To bring weight and fall in
clothes
(3) To remove wrinkles
(4) All of these
29
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Which  starch 18
Bucharam finish ?

(1) Farina starch

(2) Wheat starch

(3) Sago starch

(4) None of the above

used for

The objective of Back filling is

(1) to enhance appearance and
strength of cloth

(2) to fill the middle gaps of cloth
(3) toincrease weight of cloth
(4) All of the above

Which of the following 1is the
stiffness factor ?

(1) Turkey red oil

(2 Polyvinyl alcohol

(3) Silicon Emulsion

(4) Glycerin

The example of Anthrogquinone
dye 1s

(1) Alizarin

(2) Direct Dye

(3) Methylene Blue

(4) Phenolphthalein

The well balanced cloth is :
(1) Thread count 64 x 60
(2) Thread count 100 X 60
(3) Thread count 80 x 30
(4) None of the above
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Which of the following is an
example of basic dye ?

(1) Martius Yellow
(2) Indigo

(3) Crisophynain G
(4) Malachite green

The process of adding pigment or
insoluble dyes to a solution before
passing through the spinrate to
form the filament is called

(1) Product dyeing
(2) Package dyeing
(3) Piece dyeing
(4) Dope dyeing

The process of converting wet dye
to soluble Luco form is called

(1) Wetting

(2) Oxidation

(3) Dyeing

(4) Final treatment

used in
reduction of sulphur dye is :

(1) Sdaium sulphide

(2) Sodium bisulphate

(3) Thiourea dioxide

(4) None of the above

A reducing agent
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. A colour which has no affection

towards fibres is
(1) Azodye

(2) Reactive dye
(3) Acid dye

(4) Pigment

Water soluble dye 18
(1) Wet dye

(2) Direct dye

(8) Disperse dye

(4) Sulphur dye

Dye used for dyeing wool is
(1) Acid dye

(2) Disperse dye

(3) Sulphur dye

4) Naphthol dye

. The colour of dye is due to0 the

chemical group present in it is
known as

) Chromophore

2 Auxochrome

(3) Pigment

(4) None of the above

. Which group is not auxochrome ?

(1) —OH
(2) — COOH
(3) —NH,
@) —NO,
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Ice colour 18

(1) Reactive colour
(2) Pigment

(3) Wet colour

(4) Azoic colour

The work of stenter in finishing
process 18

(1) Dimensional stability
(2) Drying of clothes

(3) Controlling width

(4) All of the above

Cleaning of spinning wool 1s
known as —

(1) Rearing
(2) Scouring
(3) Shearing
(4) None of these

" js derived from Aryl amides
organic compound.

(1) Direct dye
(2) Reactive dye
(3) Wet dye

(4) Azoic dye

. Plant fibre which is known as

‘golden fibre’ :

- (1) Coir

(2) Jute
(3) Hamp
(4) Linen
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The production of silk worms 1is
called

(1) Sericulture

(2) Floriculture

(3) Horticulture

(4) Agriculture

Which of the following is a
shuttleless loom ?

(1) Gripper loom

(2) Rapier loom

(3) Air jet loom

(4) All of the above

Magical fibre is
(1) Nylon

(2) Rayon

(3) Polyester
(4) Silk

Nylon 6, Nylon 66, Wool and Silk
are classified into

(1) Polyethene fibres

(2) Polyacrylonitrile fibres
(3) Polyolefin fibres

(4) Polyamide fibres

. Which of the following fibres has

the least density ?
(.1) Cotton

(2) Nylon

(3) Polyester

(4) Wool
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It is used in production of Nylon

66 :

(1) Ethylene glycol

(2) Adipic acid
Hexamethylenediamine

(3) Caprolactum

(4) Adipic acid

and

Polyester is produced by
spinning.

(1) Wet

(2) Dry

(3) Melting

(4) Solution

The strongest natural fibre is
(1) Wool

(2) Silk

(3) Cotton

(4) Flax

Singing of polyester is done to
)
2
3)
4)

enhance the lustre

reduce the pilling

adopt colour

enhance dimensional stability

Scouring of cotton cloth is done in
(1) alkaline medium

(2) acidic medium

(3) neutral medium

(4) None of the above
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Complex yarn is made up of
(1) Base yarn

(2) Effect yarn

(3) Binder yarn

(4) All of the above

Decatising is used for finishing of
(1) Cotton :
(2) Wool

(3) Silk

(4) Nylon

Generally, which garments are
evaluated by Limiting Oxygen
Index ?

(1) Water resistant garment

(2) Water proof garment

(3) Fire resistant clothing

(4) All of the above

A dyeing machine in which cloth
and colour solution both rotate :

(1) Jigger dyeing machine
(2) Jet dyeing machine

(3) Winch dyeing machine
(4) Package dyeing machine

When twisting in spun yarn is
increases, then strength

(1) Increases

(2) Decreases

(3) No change occurs

(4) First increase then decrease
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In enzymatic desizing, favourable
pH for Malt enzyme is

(1) 6.8—7
() 45-55
(3) 6.2-6.5
(4 7-15

Spun yarn is produced from —
(1) Staple fibre

(2) Filament

(3) Both (1) and (2)

(4) None of the above

In desizing process 18
mainly removed.

(1) Wax and Tallow
(2) 01l
(3) Starch

(4) Insoluble impurities in water

Textile auxillary which is helpful
to remove hardness of water :

(1) Sequestering agent
(2) Wetting agent

(3) Lavelling agent

(4) Surface active agent

Father of Textile Chemistry is
(1) Joan Mercer

(2) William Lawrence Walls
(3) Rachel Lang

(4) Richard Roberts
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The main ingredient in scouring is
(1) Wetting agent

(2) Base

(3) Emulsifier

(4) Sodium silicate

In mercerisation process caustic
soda is taken in

(1) 10— 15% concentration
(2) 18 — 25% concentration
(3) 5—10% concentration

(4) 25— 35% concentration

Which is a lustre reducing agent ?
(1) Titanium oxide

(2) Barium sulphate

(3) Both (1) and (2)

(4) None of the above

The word stoving is related to

(1) Desizing

(2) Singing

(3) Hy0, Bleaching

(4) Bleaching by sulphur dioxide

The ideal temperature for

hydrogen peroxide bleaching is
(1) Room temperature

(2) 50-60°C

(3) 95—-100°C

(49) 130-140°C
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is used for polyester

dyeing.

(1) Acid dye

(2) Basic dye
(3} Reactive dye
(4) Disperse dye

In medium, vinyl]
sulphon reactive dye is done on
cotton fabric.

(1) Basic pH

(2) Neutral pH
(3) Acidic pH

(4) None of these

Disperse dye is

(1) Insoluble in water

(2) Non-ionic dye

(3) Suitable for hydrophobic fibres
(4) All of the above

Synthetic silk is
(1) Rayon

(2) Polyester
(3) Acrylic

(4) Acetate

is known as work horse fibre.
(1) Polyester

(2) Nylon

(3) Acrylic

(4) Viscose rayon

.29
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. The

process is take place in

scouring.

(1) Saponification
(2) Emulsification
(3) Detergency
(4) All these

Filament yarns are
(1) Sticky

(2) Less lustrous
(3) Rough

(4) Small

Reactive dye forms

fibre in alkaline medium.
(1) Covalent

(2) Salt linkage

(3) Hydrogen

(4) None

Generally novelty yarns are
(1) Plyyarn

2) Textured yarn
(3) Buckle yarn

(4) Card yarn
direction of cloth
determined by

(1) Grain

(2) Thread count

(3) Balance

(4) Selvage

bond
with hydroxyl group of cellulose
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Which weaving produces lustrous
surface ?

(1) Twill weaving

(2) Satin weaving

(3) Jacquard weaving

(4) Pile weaving

The weight of 1 kilometre yarn in
kg is called

(1) Denier

(2) Count

(3) Metric count

(4) Tex

Basic elements of woven design
are

(1) Design and Draft plan

(2) Draft and Peg plan

(3) Peg plan and Denting plan
(4) Design, Draft and Peg plan

Unit of polymer is
(1) Monomer

(2) Co-polymer
(3) Block polymer
(4) Graft polymer

The inter-polymer bond in textile
fibres is

(1) Van der Waal force
(2) Hydrogen Bond

(3) Salt Linkage

(4) All of these
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Protein found in wool is
(1) Ceresine

(2) Fibroin

(3) Carotene

(4) None of the above

Which natural fibre is a filament ?
(1) Cotton

(2) Wool
(3 Silk
(4) Jute

A bicomponent yarn is

(1) Two different yarns
together

(2) Yarn made up of two
different natural fibres

(3) Yarn made up of two
different colours fibres

(4) Yarnin which polymer of two
different fibres is taken out
with spinneret

tied

An example of direct dyé is
(1) Kongo Red

(2) Alizarin

(3) Aniline Yellow

4) Malachite Green

Primary processes of weaving are
(1) Shedding, Picking, Letting off
(2) Shedding, Picking, Pick
finding
(3) Shedding, Picking, Beat up
(4) Shedding, Picking, Take up
=]
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Which of the
chemical finish ?
(1) Carbonising
(2) Sanforizing
(3) Ragging
(4) Milling

following 1s a

Textured yarn is
(1) Straight

(2) Warm

(3) Dense

(4) Spun

Suitable florescent brightening
agent for polyester is

(1) Tinopol ERT

(2) Uvitex ERN

(3) Blancophor EBL
(4) All of the above

The process of moving of dye
molecules from dye bath to fibre
surface is called

(1) Adsorption
(2) Absorption
(3) Penetration
(4) Fixation

The process of removing oil and
fat from cotton fabric is called

(1) Esterification
(2) Emulsification
(3) Saponification
(4) Etherification
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86.

87.

88.

89.

Cropping process is done to

(1) remove emerged fibres by
cutting

(2) remove emerged fibres by
burning

(3) clean the dust and soil by brush
(4) brush the emerged fibres

The highest resistance to alkali is of
(1) Wool

(2) Cotton

(3) Silk

(4) None

The appropriate pH for beaching
with hydrogen peroxide is

0 7-15
2 10.2-10.7
(3) 8—85
(4) 5-55

Universal bleaching agent is
(1) NaOCI

(2) NaClO,

(3) Hy04

(4) NaySOj

The chemical used in scouring of
cotton cloth is

(1) Washing soda
(2) Caustic Potash
(8) Costic Soda

(4) Sulphuric acid
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The objective of carbonisation of
wool is

(1) To remove vegetative materials
(2) To remove fat

(8) To remove dryed sweat

(4) To remove minerals

In which stage of textile
processing ‘Amylase’ enzyme is
used ?

(1) Desizing

(2) Scouring

(3) Dyeing

(4) Bleaching

Chemical name for bleaching
powder is

(1) Sodium Chloride

(2) Calcium Hypochlorite
(3) Sodium Hypochlorite
(4) Sodium Bisulphite

On a blue wool scale the fastness
of light is measured between

(1) 1-5

(2) 1-6

3 1-4

4 1-8

The working principle of dJet
Dyeing machine is

(1) High temperature

(2) High pressure

(3) High temperature and high

pressure
(4) Boiling temperature and
atmospheric pressure
29
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As count increases in English
cotton system

(1) Thickness of yarn increases
(2) Thickness of yarn decreases

(3) Thickness of yarn remains
same

(4) None of the above

Direct dye is known as
(1) Anion dye

(2) Cationic dye

(3) Non-ionic dye

(4) None of these

The role of Glaubers’ salt in
dyeing with acid dye

(1) Exhausting agent

(2) Levelling agent

(3) Dye fixing agent

(4) Reducing agent

Azoic colour dyed cloth does not
have good fastness towa;ds

.

(1) washing
(2) light
(3) friction
(4) sweat

Naphthol is soluble in

(1) Solution of caustic soda

(2) Solution of sodium carbonate
(3) Solution of sodium bicarbonate
(4) Hot water
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pH?

(1) 10.8-11
@ 11-12
(3) 8.5-9.5
(4) 6.5-1.5
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Polyester rope dyeing machine
is

(1) Jigger

(2) Winch

(8) Beam Dyeing

(4) Jet dyeing

Suitable pH for stabilization of
reactive dye is

(1) 10.8-11
@ 11-12

(3) 85-9.5
(4) 6.5-17.5

Sulphur tendering occurs due to
formation of

(1) HCI

@) H,S0,

(3) HNO,

(4) CH,COOH

. Batch dyeing is also called as

(1) Jig dyeing

(2) Winch dyeing
(3) Back dyeing
(4) Exhaust dyeing

 The function of base in dyeing

with procion dye is to
(1) enhance the level dyeing
(2) disperse the dye
(3) enhance the exhaustion of
dye
(4) reaction of dye with fibre
: 29
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105. The process of dyeing on dyed

cloth is called

(1) Topping

(2) Spotting

(3) Taning

(4) Reverse dyeing

. Scruping is related to

(1) Shearing of wool

(2) Dying with sulphur dye

(3) reaction of wool with sulphuric
acid

(4) reaction of silk with acetic acid

. Bond found in wool fibre

(1) Disulphide bond
(2) Ionic bond

(3) Hydrogen bond
(4) All of these

108. The degree of mercerisation is

measured by

(1) Copper number

(2) Fastness towards washing
(3) Barium activity number
(4) BOD value

_‘ORLON is a trade name of

(1) Polyester
(2) Dacron
(3) Nylon
(4) Acrylic
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Which chemical used as levelling
agent in acid dye ?

(1) Glaubers’ salt

(2) Sodium phosphate

(3) Potassium chloride

(4) Acetic acid

Tabby is commonly known as
(1) Twill weaving

(2) Satin weaving

(3) Rib weaving

(4) Plain weaving

In Nylon — 66, number shows
atoms of

(1) Nitrogen
(2) Carbon
(3) Hydrogen
(4) Oxygen

The weight of metre
yarn in grams is called tex
system.
(1) 9000
(2) 960
(3) 840
(4) 1000

. Polyester fibre is soluble with

(1) 70% sulphuric acid
(2) 100% acetic acid
(3) 70% metacresol
(4) 100% hydrochloric acid
29
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Acid steping is done with
(1) dilute sulphuric acid
(2) dilute acetic acid

(3) dilute metacresol

(4) dilute nitric acid

Which of the following dyes is
easily soluble in water ?

) Naphthol dye

(2) Reactive dye

(8) Disperse dye

(4) Sulphur dye

The device to measure fastness
against washing

(1) Shaker bath

(2) Genometer

(3) Launderometer

(4) Crockmeter

Loss of colour due o0 friction is
called

(1) Bleaching

(2) Crocking

(3) Migration

(4) Diffusion

. Tailing effect is related to

&) Mercerisation
(2) Scouring

(3) Bleaching
(4) Dyeing

. Which type of weave is done in

Denim fabrics ?

(1) Plain weaving

(2) Twill weaving

(3) Jacquard weaving
(4) Basket weaving
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125.

Fastness

Fastness against friction is

measured by
(1) Launderometer
(2) Paraspirometer

(3) Crockmeter

(4) Genometer

The odour comes on burning of
silk is

(1) like burning of paper

(2) like burning of hair

(3) like vinegar

(4) like burning of wax

When twist is given to two or
more than two ply yarn it is called

(1) Single yarn
(2) Cord yarn
(3) Loop yarn
(4) Chenille yarn

The functional group present in
cotton fibres is

(1) Hydroxyl group

(2) Amino group

(3) Carboxillic group

(4) Nitro group

: of direct dye 1is
enhanced towards washing by

(1) Cationic fixing agent

(2) Anionic agent

(3) Non-ionic agent

(4) Silicon
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. Which ribs are

.In

Acrylic i8 dyed with
(1) Basic dye

(2) Acid dye

8) Wet dye

(4) Direct dye

made with more
pumber of warp and less number
of weft ?

(1) Warp

(2) Weft

3) Basket

(4) Twill

. Standard angle of twill weaving

18

(1) 90°
2y 7%°
(3) 180°
4) 45°

_ Indigoid 18

(1) Wet dye
(2) Cationic dye
(3) Acid dye
(4) Disperse dye

floating threads create
same surface structure like cell.

(1) Dobby weaving

(2) Leno weaving

(3) Honeycomb

4) Double cloth weaving

. Ramazol and procion are subclasses

of which main dye class ?
(1) Direct

2) Wet

(3) Azoic

(4) Reactive
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Fibre which contains nitrogen
and sulphur is

(1) Polyester
(2) Wool

(3) Nylon
(4) Cotton

Condensation polymerization 18
not used in the production of

(1) Polyester
(2) Nylon-6
(3) Polypropylene
(4) Nylon-66

In the productionof _____ Filament
yarn, wet spinning is used.

(1) Viscose Rayon

(2) Polyester

(3) Nylon-66

(4) Acrylic

The chemical which converts
soda cellulose into sodium
cellulose xanthate in the
production of viscose rayon is

(1) Carbon Disulphide
(2) Sodium Xanthate
(3) Sodium Sulphide
(4) Sodium Hydroxide

. Fibre that floats on water is

(1) Nylon

(2) Polyester

(3) Acrylic

(4) Polypropylene
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187, 3 GEFRIE § | 137. Wool is soluble in

(1) 75% TR F % (1) 75% Sulphuric acid
(2) 60% TR 3T | (2) 60% Sulphuric acid
(3) 85% i I | (3 85% Formicacid
(4) 5% Aifean TEgEIEs % (4) 5% Sodium hydroxide
138. mﬁﬁmgﬁmqﬁmz | 138. The Technique which doesn’t
1) A s i‘ make Non-woven fabric :
@) '5'3@@%"%” i (1) Spun bonding
3) B | 2) Hydroentangling
@ 3 | (3) Melt blowing
% (4) Braiding
139. g FI H g § s ® 139. It is used in Bio-polishing of
fora ST B g cotton fabric —
(1) [ EEl ! (1) Cellulase
P)) @Gﬁq ‘! 2 Amylase
3) G| x‘ 3 Proteinase
(4) W ii (4) Esterase
140 Wmﬁwmm % 140. In acrylic fibre, there is 85%
85% Bl & | of minimum weight.
) o 3 (1) Acrylic acid
) m@a (2) Acrylonitrile
@) 3 Acrylamide
@ F 4) Methyl methacrylate

141. m@ﬁﬁsﬁm@@sﬁrﬁahﬁ £ 3of | 141 A pair of natural fibres which is

JEEEe related to seed fibre category is
(1) U= i e (1) Cotton and Sissel
(2) % 3T TR (2) Kenaf and Kapok
(3) HIE FNCFATH (3) Cotton and Kenaf
(4) HTE e apicy (4) Cotton and Kapok

29 29 o



‘, 142. The gum found in raw mulberry

i
1

143.

silk :

Q) Ceresine
() Fibroin

(3) Carotene
(4) Casein

A pair of fibres 1n which
maximum static  charge 18
retained :

(1) Cotton and Polyester

@) Silk and Polyester

(3) Polyester and Polypropylene
(4) Silk and Polypropylene

.On combustion test of cotton fibre,

following property is observed :

(1) burns fast and smells lhike
burning of paper.

(2) fall with burning

(3) on burning smells  like
purning of hair

(4) melts and formed hard bead

_ Which fibres are produced by

melt spinning ?

P. Viscose Rayon

Q. Cellulose Acetate
R. Nylon-66

g. Aramid

(1) Only P

(2) Both Q and R
(3) Onmly R

(4) BothRand$S
29



146. s ¥ 3careA H Thad l 146. is monomer in production
!

21 of Adipic acid.
(1) e 6 i (1) Nylon-6
2) T 66 ‘1 (2) Nylon-66
® T 64 g (3) Nylon-64
@) e 68 ‘1 4) Nylon-68
147. fufem % FawH JoafRae | | 147. Milling is related to processing of
(1) TaF % (1) Cotton fabric
@) foesa® ‘ 2 silk fabric
(3) &I } (3) dute fabric
@) =9 ‘i (4) Woollen fabric
148, FEHET J g o= ¥ = guﬁ H gar x‘ 148. Mercerising improves the
AT l i“fol}l)o?ving qualities of cotton
@ = | Q) Strensth
@) T | (@ Luster
(3) SRR “ (3) Absorbency
4) <oy &t " 4) Al of the above
149, HIS ¥amd IR @}qh =) S \l 149. The process of burning the fibres
sﬂ%ﬂﬁﬁa&aﬂ% ! emerged from the surface of the
@ o ‘i cloth i.s csf\lled
A | (1) Singing
@ i | 2 Bleaching
(3) Tt | (3 Shearing
(@) Teamh i‘ (4) Desizing
150. F gemeie 3 gATES e i 150. 18 water soluble and has
w@as | ‘ positive group-
) SR T | () Directdye
©@) ﬁ@ﬁagfé % (2) Reactive dye
3) A o “ (3) Basic dye
@) e \ (4) Wet dye
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